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PR E] 27,000
- FHHE OE U HEE Fa
450,000 * 60§ * 103] 27,000
401 AIZHIL2CH] 367,000 200,000 167,000
01 Al&t] 367,000 200,000 67,000
O A7 GHEBY UAHL(SHE HAHH 2
20744 ) (POOL) 200,000,0009 * 11 200,000
O &8 8Ea HYsE? L +243%
50,000,000 * 1Al 50,000
O FEH ANES KX 24 (L=3. 12kn)
67,000,0002! * 11 67,000
O HUHE AEES X 24 (L=5.45kn)
50,000,000 * 11 50,000
SABRA(SLR ALDED) 383,996 364,418 19,578
2. ZRMaRL 22,076 25,774 £3,698
2. ZRHaRE 22,076 25,774 £3,698
201 LBty 12,476 11,174 1,302
01 At 10,376 8,024 2,352
O Y28l 5,000
- AT P2ARH BF U ST+4E
5,000,0009 * 1 5,000
O 2zl 5,376
- ATRWL2 =T
7.0008 = 491 « 163 * 128 5,376
02 IT2YH| 2,100 3,150 A1,050
O 2223 2 HAl 2,100
- ATRMWNULES DNNBE 2823
1,75020 * 1005 * 122 2,100
202 Oft| 9,600 9,600 0
01 2UhoiHl 9,600 9,600 0
O 2TRWLAEHEA
20,0000 * 421 + 108 * 122 9,600
=EEEET] 361,920 338,644 23,276
T2y =YHIATY 361,920 338,644 23,276
201 LBty 34,440 41,700 AT7,260
01 At 12,240 19,500 AT7,260
O gl 2,000
- SHCHA BIUTBS MAOIY
1,000 * 1,000& + 23] 2,000
O T=y| 1,200
- PENSNTHE 2228 1=
200,002 * 62 * 13l 1,200
O 2zl 5,040
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SN SYP ALDED
i AR (SHT AEDSD)

el SHAAE

] _ - MG =
SAN-ZH-SA(FA) - NFAY - BES Aol Ofl At ot HwsZ
- [ABYBS NCHS =X
7,000 * 691 * 1202 5,040
O gxz 4,000
- 29 26014 FEI FHIYIH(IA, X
i S) 400,0002 * 103] 4,000
02 ZZ2Y| 22,200 22,200 0
O 2222 2 HMAl 11,000
- 0ISHSH(IAL)RS
10,0002 * 504 * 122 6,000
- SHREIY BE)| DHAMELE
2,000,002 * 1C§ * 13 2,000
- HENEE2 1,200,008 * 2CH 2,400
- HSIN L BRNLRLS
200,0002 * 2CH 400
RS XA 10,0008 * 2CH 200
O A&ZYISX 1,200
- BECRIH SRR 1,200,008 * 14 1,200
O ey 10,000
- NEsExe 5,000,008 * 2CH 10,000
202 01t 10,080 10,080 0
01 =Ujoi ] 10,080 10,080 0
O ZRUSHHAS XTHS
20,0008 * 621 * 72 * 128 10,080
206 T2 bl 2,400 3,000 A600
01 T2 2,400 3,000 AB00
O LARISHEN A28
100,0002! * 63 * 43| 2,400
305 HASS 5,000 5,000 0
01 BHa3s 5,000 5,000 0
O SESAYIIAl SHUA (S HEIS)
10,0002 * 5021 * 14 5,000
307 2120l H 310,000 278,364 31,636
05 QI2t9IEtz 310,000 278,364 31,636
O ZZENY SHHF o
200,000,000% * 14 200,000
O HOISEIZEN SYsS o
90,000,008 * 14! 90,000
O HAR GRS 2284
20,000,008 * 18l 20,000
SRY a5 Y pe(SET AEDSH) 7,208,640 9,331,333 A2,122,693
=PI 6,074,420 7,311,660 A1,237,240
AP2 CAHES RN 1,762,300 1,665,560 9,740
201 Ygreg| 2,100 3,360 A1,260
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SHT HEDEY
C2Y EHE Y Fe(SHT ALDED)
2 (el @2
_ . e ~
SA B HRA(SH) - MRAY - B Abod i HIREY
01 AtSR22/Hl 2,100 3,360 A 1,260
O =gl 2,100
- CRIMYSENS
7,000& » 321 * 100 2,100
202 O4dl 7,200 7,200 0
01 =Wl 7,200 7,200 0
O E2iH& gexw
0,000& = 321 » 108 » 128 7,200
401 Al&HIZL=ROHYI 1,753,000 1,655,000 98,000
01 Al&H| 1,750,000 1,650,000 100,000
O Q7S T AIME = 244 (1=350, B=8n)
500,000,000& * 14 500,000
O SZ3E - 108 TAIAE =244 (L=300m, B=
8m) 500,000,000& = 14! 500,000
O 28118 TAHEEZ=ZH 4 (L=35m, B=8m)
50,000,000 * 14 50,000
O dlo2g S AIAHE S Z A (L=80m, B=6m)
200,000,000& * 14 200,000
O MIQH3E & AIME = 244 (L=55n, B=6n)
200,000,000& * 14 200,000
O ZH12E ©AHE C 244 (L=66n, B=6n)
300,000,000& = 14! 300,000
03 AIZ=20i4l 3,000 5,000 22,000
O ZAAHEEZHL 3,000,000& 14 3,000
sHEZZ20H4 2,258,520 2,126,500 132,020
201 LetEIH| 3,520 1,500 2,020
01 AtR22/Hl 3,520 1,500 2,020
O get=&Hl 1,000
- E2HELEHES 500,000 = 23] 1,000
O =&l 2,520
-sHEZZNEFA
7,000& = 20! * 153 = 12& 2,520
401 A EHIL 204 2,255,000 2,125,000 130,000
01 Al&HI 2,250,000 2,120,000 130,000
O S0EE2L BB
50,000,000& * 14 50,000
O &y M=248 T2eTE(1=1000n, B<6n)
500,000,000& * 14 500,000
O sd =26 =2 =T F(L=1000m, B=6m)
500,000,000& * 14 500,000
O B S1E2& &2 ST (L=500m, B=6n)
500,000,000& = 14 500,000
O &4 ZeH=3d T2 & IZE(L=1000m, B=6m)
500,000,000& * 14 500,000
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M S ALY
Y CRY 2E U Hel(SE7 AMDED)
ool CRIA (el a9
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0 & 24 i HIRE
O EAM Botd S 2IHH (L=1500m, B=6m)
200,000,000 * 14| 200,000
03 AIZ20i4l 5,000 5,000 0
O sHEEZNE 5,000,000 * 14! 5,000
Tl =JAt 543,000 568,000 A 25,000
401 AIEHIZ 208 543,000 568,000 225,000
01 Al&HI 540,000 563,000 A 23,000
O Hg HEH SEERH(L=150n, B=6n)
100,000,000& = 14| 100,000
O REI6E CANLT R th2 A4 22 (L=500m
, B=1m) 70,000,000& = 14! 70,000
O Y& MAMAOIIER 2 1Hs =2 X & (L=4
00m, B=5m) 120,000,000& = 14| 120,000
O EAM gz1el ol =& X[ (L=1000m, B=2m)
100,000,000& = 14| 100,000
O =832l =2 ZHEI3A 40,000,000& * 14 40,000
O s8¢ 94d1el 2 2Ha =24 XIS A
60,000,000& =+ 1A 60,000
O =20 22 VAHZZ HE(LALH)
50,000,000& = 14 50,000
03 AIZ R0 3,000 5,000 A2,000
O FoU=JAMGFA 3,000,000& * 14! 3,000
024X H 500,000 748,000 A248,000
401 Al&HIZL=ROHYI 500,000 748,000 A248,000
01 Al&HI 500,000 748,000 A248,000
O 028X 2 ZI0IFY TAHHE2 87
2 500,000,000& = 14| 500,000
AE2E HHAS 120,000 10,000 110,000
305 Hia=S 120,000 10,000 110,000
01 ti&a=s 120,000 10,000 110,000
O AEHAZ Eolitiy 20,000,000& * 14 20,000
O SZ0ISSUSHT tha(62)
100,000,000& = 14| 100,000
SZAES 2el 890,600 693,600 197,000
201 LEH2HH| 397,600 238,600 159,000
02 23223l 397,600 238,600 159,000
O 2222 2 WA 327,600
- NEEEIIRS
2,400,000& * 70 ~ 128 201,600
- FHYMEY 9 244 FIIQ3
3,500,000 * 3 A ~ 128 126,000
O A& &EbHI=Xbl 70,000
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SN SYP ALDED
HE: S22 25 Y Hel(SET ALDED)
ool E2opA (25l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
- HOXIGHE © A RXES
70,000,000 * 1Al 70,000
206 T2l 50,000 48,000 2,000
01 HEb| 50,000 48,000 2,000
O FHYMEIY BT L orF))|
50,0002 * 1,0007H 50,000
307 2201 H 436,000 400,000 36,000
05 BI2tSIES 436,000 400,000 36,000
O HAMELR2ISS 400,000,008 * 1A 400,000
O ®o2 XGHRE 2 3ML HIlgmBel 2
o 750,008 * 404 * 128 36,000
401 Al&HI L= 0| 7,000 7,000 0
01 Al&t| 7,000 7,000 0
O HYMEHE BULHFAS
7,000,0002 * 1Al 7,000
c2 Y| 1,134,220 2,019,673 885,453
MEOIR JlsXHel 530,570 755,808 N225,238
201 LByl 194,970 192,568 2,402
01 At 45,650 47,350 A1,700
O gl 1,000
- MBI Y J|=RE
2009 * 5,000% 1,000
O T=t| 3,400
- SRR4 O=H(HYE 5)
200,008 * 1791 * 1 3,400
O 2| 5,250
- SRIHYYLET 7,008 * 52 + 1502 5,250
O Yyxz 36,000
- MY o MBOIAH )
150,0002 * 12A12F » 4CH * 53l 36,000
02 IT2YH| 149,320 145,218 4,102
O 2222 % MAl 22,320
UEEEEENEE
10,0008 * 5CH * 122 6,000
- ERB4 ARA HIIRD
500,009 * 122 6,000
- EERAR ARA HO4E23
60,0002 * 122 720
- XES XA (8TH) 600,002 * 15| 600
- HSx BHE(110) 7,000,008 * 18l 7,000
- RSHAASLEE(10H)
1,000,000 * 13l 1,000
- BANESLS(80) 1,000,008 * 1 1,000
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2N sg3 &8s
MM, C29 s L AR (SHP HEWNED
Cl: 28| (G H )
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- e ° T EEREES = 04”:"% ree
O =zt 10,000
- BRI U HAF Lyl
2,000,000& = 5€ 10,000
O A&&EHISX Y| 81,000
- MAEXH Sl (AZI], MED,me])
5,000,000& * 3= 15,000
- MEURHAKY Y ERUST2E
6,000,000& = 11CH 66,000
O XtgFs ey 36,000
- S 2FH|XH2H(80H) 6,000,000& * 6CH 36,000
202 O4d] 7,200 7,200 0
01 2W Ayl 7,200 7,200 0
O M0 xels
20,000& = 321 x 10 = 12&€ 7,200
206 X = H| 166,000 229,040 63,040
01 M=dl 166,000 229,040 AB63,040
O M= X (Es2Es 2 38)
100,000,000 = 14 100,000
O MEoI2axe ANM((otA= 2 5E)
50,000,000& = 14 50,000
O E2Y M==AY MHMM=A 2 18)
10,000,000 = 14 10,000
O E2FHIE SZE(&, URE)
6,000,000& = 14 6,000
301 et A= 5,000 5,000 0
12 JIEIE2 &3 5,000 5,000 0
O MEOIAKLIY LM TohE
5,000,000& = 14 5,000
305 A2 S 5,000 5,000 0
01 HH&a2s 5,000 5,000 0
O T=2&dH2d a2 5,000,000 = 14 5,000
401 AlEHIZLE0HH] 30,000 220,000 A 190,000
01 Al&H| 30,000 220,000 A 190,000
O EZ2EHA 2MoleE HIIS2Hel (HotAZESE
) 100,000& * 300E 30,000
405 KHAHE SHI 122,400 97,000 25,400
01 XY ESEFSHI 122,400 97,000 25,400
O AJNEZH(IIMII, S, AAHY L&)
120,000,000& = 1CH 120,000
O HOlA Mol E 1,200,000 = 2J4 2,400
EZEA L Ay 339,990 578,905 A238,915
201 Bt2AH| 4,150 3,520 630
01 At 2t2ld] 1,000 3,520 N2,520
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SN SYR HEDED
H: C20 =& U (SR ALDED)
el T2 XY (&9 de
S T LSS (SH]) - MEAY - BAS Ol AF o4 dd = HDE2
- e ° T EEREES = 04”:"% ree
O Yura24| 1,000
- CE2NUANLEHEE 250,0002 * 43 1,000
02 2Z2H| 3,150 0 3,150
O Z2Z22LZ2YLAHA 3,150
- CREZ(2)E DM 52 2ER2
1,750 * 1505 * 122 3,150
202 o4l 3,840 3,600 240
01 2U0iH| 3,840 3,600 240
O C22= L A28z
20,0002 * 201 % 8 * {22 3,840
401 Al&HIL 2 HH 332,000 569,985 A237,985
01 Al&H] 330,000 564,000 A234,000
O 22U otAa2 & M2)|(Es22l)
50,000,0008 * 14 50,000
O BE 2 NS 2EH|(E=22])
50,000,0008 * 14 50,000
O T2AEg 22 & e (@s2el)
80,000,0002 * 14 80,000
O NE225 (AHDIZ~2H(C) OtAR WEZR
(L=2000m, B=10m) 150,000,0002! * 14l 150,000
03 Al&=20iY| 2,000 5,985 A3,985
O T2FUIAIY 2,000,000& * 14l 2,000
W Y Snae 263,660 684,960 A421,300
201 YBregy) 9,660 106,960 A97,300
01 AFR2Zt2ld] 9,660 106,960 A97,300
O 2Z22 2 HMA 9,660
- SN2 (RAAHE, MoAHEI)
700,0002 * 12 8,400
- RAEANZISD CTVE M AlgES
80,0002 * 1€ 960
- RHEANRISD RIHOIEHZEAR
300,0002 * 13 300
307 ©I12+0|& 4,000 3,000 1,000
05 DI2igler= 4,000 3,000 1,000
O RAANZISD L2IHOIH 22 29
4,000,0002 * 14l 4,000
401 Al&HIL 2 HH 250,000 575,000 A325,000
01 Al&H] 250,000 575,000 325,000
O 2 g B4 - 82 150,000,000 * 14! 150,000
O 2 D HUEARA
100,000,0002! * 14l 100,000
TH S XH Bl Ol &2t 266,320 324,372 AB58,052
REATHEE ol 2t 237,130 291,872 NAB4, 742




SN S2T AEDSD
B TH LT OH 0 2

SHel: RIQITHLE 0l (25 &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
THLHORF O 2 CHS N 2 e 237,130 291,872 A54,742
101 124l 8,330 8,092 233
04 JIVH22HSES 8,330 8,092 238
O Z4a2AlQ 35,0002 * 3491 * 72 8,330
201 LByl 36,320 55,580 19,260
01 Attt 29,520 48,780 A19,260
O Yprg| 3,000
- HAHOISAIY SHSETY
500,008 * 23| 1,000
- OEEY U WY E22
500,008 * 43| 2,000
O 2zl 2,520
- WYY e =N
7,002 * 321 + 102 * 122 2,520
O yxe 24,000
- WO S22 SZHI(SHS)
400,008 * 5CH * 1202 24,000
02 IT2YH| 6,800 6,800 0
O ZZRILHA 4,800
- BAEEE ®II23
200,008 * 204 * 128 4,800
O ANEZHISXHI 2,000
- BABIOF XS4 1,000,009 « 22 2,000
202 04t 6,480 7,200 AT20
01 2Uloibl 6,480 7,200 AT20
O WHHREZ 20,0008 * 30! * 92 « 128 6,480
206 M= HI 3,500 1,500 2,000
01 HEt| 3,500 1,500 2,000
O PPOIUH(=SH=T7E) 350& = 10,0000H 3,500
401 Al&HIL 20| 180,000 218,000 38,000
01 Al& ] 178,000 218,000 240,000
O M AlAI2l 2247 (12008, L=400n)
50,000,0002! * 14! 50,000
O S0 £422| +22H& (15008, L=200m)
50,000,0002! * 14! 50,000
O BN SFel AMSe 2R (L=30, H=
5~3m) 28,000,000 * 14! 28,000
O BN 8Fe S=H228 7 (L=50n, H=1n)
10,000,002 * 14} 10,000
O =0 gog| T&d 5022 A X (L=300n, H
=2.5m) 40,000,008 * 14} 40,000
03 Al& = CH| 2,000 0 2,000
O THOHOI AL = 2,000,0008 * 141 2,000
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SN S2T AEDSD
B TH LT OH 0 2

Sl XPITHL Ol (e
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
405 XtarE S| 2,500 1,500 1,000
01 XHAUSEE S| 2,500 1,500 1,000
O +ERHBI(+H=TE) 500,008 * 504 2,500
Dlgrel 29 U HIA Y| 29,190 32,500 A3,310
NERIEIE S =T n] 18,470 18,320 150
201 Yereg| 5,970 7,320 A1,350
02 =234l 5,970 7,320 A 1,350
O 2222 2 WAl 3,720
- AIBICHIIA ®JIQ3 150,008 + 128 1,800
- AIDICHTI A M54R3 10,0008 * 128 120
- BABSAE ®II93
50,0008 * 344 * 122 1,800
O A&ZYISXI 2,250
- BIABLANERNES 700,002 * 3HA 2,100
- HAZSAE 2¥I"A
150,0008 * 102 150
206 M=l 8,500 0 8,500
01 T2 8,500 0 8,500
O HMHIIE 45,0008 * 500H 2,250
O BUE XS 20,0008 * 407H 800
O RENEE 15,0002 * 307H 450
O B59NE 25,0008 * 50 1,250
O QUEXH 5,000 * 50X 250
O g=e 35,0002 + 10074 3,500
401 AEHI2L S 4,000 8,000 A4,000
01 Al&| 4,000 8,000 A4,000
O HIABHAE 2FSL(SS2EHDA)
4,000,008 * 1744 4,000
olue NREH 0,720 14,180 A3,460
101 Q1248 1,120 0 1,120
04 JARZRIS LS 1,120 0 1,120
O QIgSEa gl A L 52 o
35,0008 * 8Y * 43 1,120
201 Yer2g| 7,400 12, 180 A4,780
01 AtR2elt] 3,400 6,400 A3,000
O Ys+gY| 3,000
- NIYSINSEY BHEBE S
1,000,008 * 33l 3,000
O gxz 400
SIS WY L BT XU
100,0002! * 1CH * 43| 400
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SN

==
[s>)y ==}
A TH
0| gt
—_ o

Sl BIYe 29 ¥ HIAH] (e @e
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ol AF o8 BlusZ
02 BB 4,000 5,780 A1,780
O 2222 2 MAl 2,500
- UHIANSEASAN PSBRS
2502 * 10,0005 2,500
O AN&ZHIRI 1,500
- UYSINRH SXES 10,0008 * 150 1,500
206 T2 bl 2,200 2,000 200
01 MEHI 2,200 2,000 200
SIETIES) 20,0002 * 50 1,000
O PxgzZ 6,002 * 2007H 1,200
HHSAFH(SET ALWED) 195,775 240,601 144,826
olzi2 | 168,795 215,701 146,906
olzi2 | 168,795 215,701 46,906
101 Q1214 168,795 187,501 ~18,706
01 22 168,795 187,501 A 18,706
O A2te|2esy
7,457 x BTAI2t » 3921 x 128 * 0.67 156,661
O BY224Y 56,1758 « 621 « 32 « 128 12,134
PR 26,980 24,900 2,080
=l 26,980 24,900 2,080
201 Yereg| 21,580 24,900 A3,320
01 Attt 19,180 22,500 £3,320
O ersgt| 8,700
- SN2 ¥HSE 500,0002! * 128 6,000
- SN % ARIS 15,0008 * 155 + 128 2,700
OR=t1 2,800
- URFMRBOIET 7,008 * 490 * 1002 2,800
O gxz 7,680
- OXNg=sl 220,000% * 104 * 122 2,640
- HOIMZRIE 110,000 * 204 * 122 2,640
- zetEa 200,000% * 10 * 122 2,400
02 ZZEYHl 2,400 2,400 0
O 2222 2 MAl 2,400
- 2HRe3 200,000%! * 128 2,400
203 YR =X 4,200 0 4,200
04 2ASYLRETY] 4,200 0 4,200
O S47 AL DEI(30210/5)
350,00021 * 128 4,200
204 MR 1,200 0 1,200
01 HHUZARLA| 1,200 0 1,200
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SN SER ZAAED
HE: DlHKE CAZHE(SET STAAED)

SHol: ABHH LHA S (ol &2
_ _ _ N E
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl aton HRE2
- Nsx BEEa2 500,000& * 23| 1,000
O Xtgd el 5,000
- s 5,000,000& = 1CH = 14 5,000
202 Oddl 6,720 6,720 0
01 =0Tl 6,720 6,720 0
O 2H2AE2 83US U NG
20,000& * 401 « 72 » 128 6,720
sHZLNE NEHSEY| 223,620 121,230 102,390
=2 170,140 76,030 94,110
201 EH2HH| 18,550 20,230 A 1,680
01 AtE22/Hl 1,050 2,730 A 1,680
O 1=yl 1,050
- 29302 oo 50,0008 * 79I 1,050
02 =234l 17,500 17,500 0
O AMEZEHIRXH 17,500
- BN B4S  3,500,0008 * 5HA 17,500
202 O4H| 15,840 10,800 5,040
01 =0Tl 15,840 0,800 5,040
O 2DSHDEIF BT
20,0003 * 321 » 12& = 123 8,640
O HZEISHENCHS
20,000& = 3¢ » 10& * 12& 7,200
401 Al&HIL 201 35,750 45,000 90,750
01 Al&H| 135,750 45,000 90,750
O 2= 2l H4AHAN 24X DHOIH
s 18,000,000& = 44 72,000
O 4NN X L DHIOIH
6,000,002 * 20 32,000
O g@E2HAE BN & 250,000 * 7IHA 1,750
O 2Y2NS PHAUANL 25
30,000,0008 * 14! 30,000
sHZNs2e 53,480 45,200 8,280
201 et 38,680 30,400 8,280
01 At 22l 9,700 14,300 24,600
O g8l 2,500
- SYBDS HDAEH HE
5002 * 5,00004 2,500
O =&l 4,200
- 2YZDES 012 Y FY ©xeE A
7,002 * 591 * 1202 4,200
O gxg 3,000
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FA: SEF TAA=H

A 0ldXE SAXZLE(sE? SAIA
|

CHell MBS XNTHAEY

SN HB SR (BIH) - A - B S 0l &b S D=2
- o=\ T ° - = S = &= 0:”/&,% WS
- EYZNE 2N ¥ 2eXNE =
300,000& = 10 3,000
02 2223H| 28,980 16,100 12,880
O 3232= ¥ HMA 24,180
-=8&20= A HIIE H™albl
100,000& = 100K 10,000
- SIS (DFZNE) EN =8
100,000& = 100K 10,000
- XS XM S 600,000 * 14 600
- AsSXHEEZ 700,000& + 1CH 700
- SYZISEHS OlsdEzs
80,000 * 30H = 123 2,880
O Xtz Erl 4,800
- Ar=Xts Al 400,000& * 1CH ~ 12& 4,800
206 =4l 4,800 4,800 0
01 M=H| 4,800 4,800 0
O =sgaiu= JU&EY
50,000& * 8& * 123l 4,800
301 YptEaag 10,000 10,000 0
12 JIEtE2 4= 10,000 10,000 0
O sg&10= =A2432 1,000& 10,0002 10,000
EXolEHE =" - 2 18,120 22,805 24,685
ZE0/SHE HoSFAAE 25 2H 7,920 12,605 A 4,685
201 etHH| 7,920 12,605 A4,685
01 AtER22/Hl 7,920 12,605 A4,685
O get=&Hl 7,920
- ExolENE oA w3 DI
450,000 * 4488 * 244 3,600
- QIAgg 22X 24,0008 x 152A x 123 4,320
SAHE 2E 2l 10,200 10,200 0
201 B3| 4,200 4,200 0
01 AtS 22/t 4,200 4,200 0
O =&l 4,200
SONEHA S CARE A9EN T4
7,000& * 421 » 150 4,200
202 O4Hl 6,000 6,000 0
01 =Wl 6,000 6,000 0
O e 258 20,0008 » 22! » 150 6,000
otMGtl) g2l &4 1,381,400 1,606,400 A225,000
2 - 2ots ®7AlZ2el 1,381,400 1,606,400 A225,000
201 et 605,400 545,400 60,000
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FA: SEF TAA=H

M QAKE TATH(SHTR TAASD

&l otMol Bt2Hel &4

S - B (FH) - NBEAIY - BHA2 HEE Hn=2
- o= T ° . [= Bl e O:H{ﬂ,% Lsa
02 2223l 605,400 545,400 60,000
O =322 % HA 600,600
- JI2(Boh s ®IIe3
50,000,000& = 123 600,000
- AsSxHAM ¥ BEE S 600,000& * 1CH 600
O Xtz Bl 4,800
- XXy 400,000 * 1CH * 12& 4,800
202 O4H| 6,000 6,000 0
01 =LA b 6,000 6,000 0
O }H2(2HE SXE4 Y22
20,000& * 32! = 100 6,000
401 AIEHIZ 2 770,000 1,055,000 A 285,000
01 Al&t| 770,000 1,050,000 A 280,000
O J2(BohE | (SHIH L)
70,000& * 11,0005 770,000
FEZAL(SYER TAHAF) 20,830 14,090 6,740
FAHSENHA 20,830 14,090 6,740
SEFHEZMNLALS 8,910 11,040 AN2,130
201 23| 3,150 5,040 A 1,890
01 AbR22lH| 3,150 5,040 A 1,890
O =&l 3,150
- EA ¥ SEFHEZMNEAMS =8 S4
7,000& = 32! » 150 3,150
202 (4 HI 5,760 6,000 A 240
01 =LA b 5,760 6,000 A 240
O sEFANEI3MEAMNE =&
20,000& * 321 = 8 * 123 5,760
CleanOtIIECHS D] 11,920 3,050 8,870
201 LBt H| 4,000 3,050 950
01 AFR22lH| 4,000 3,050 950
O get=EH| 3,200
- BEFSVANDENE A4
15,0002 * 200& * 13l 3,000
- DEZOBANDS HUHE
100,000& * 294 = 13 200
O 2g=+¢ 800
- ZEFY PRANDS Lo+
200,000& = 4021 * 13| 800
202 O4dl 7,920 0 7,920
01 =LHOA b 7,920 0 7,920
O SSFH(OIIE)XNEEZE ¥ sgHHE2E
= 20,000& * 3¢ » 11 * 12& 7,920
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2N SEP SAASD
E: HYSAAH(SEP SAASD)
el o2yl (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o bRz
HHSYPH(SLP TAASH) 129,884 135,772 75,888
ol 2| 100,424 106,732 76,308
T 100,424 106,732 26,308
101 2121t 100,424 89,932 10,492
01 = 100,424 89,932 10,492
O ANZe224Y
74572 % 67AIZE % 2501 % 122 * 0.67 100,424
o= 2| 29,460 29,040 420
2 29,460 29,040 420
201 LByl 24,060 29,040 A4,980
01 ALRelt] 24,060 29,040 A4,980
O Yer4gt| 6,900
- ZABN S BIALES
500,002 * 122 6,000
- N Y A2TSE 15,000 * 55 * 128 900
O Y%z 17,160
- OXE =81 220,0008 * 304 * 128 7,920
- =9 TRIED| 110,008 * 7CH * 128 9,240
203 HRFAY| 4,200 0 4,200
04 BNSYYRETY] 4,200 0 4,200
O S22 SARASIH302015t)
350,0008 * 128 4,200
204 MR 4LAY) 1,200 0 1,200
01 HEZALLHAY] 1,200 0 1,200
O B 10,0008 * 19! * 122 1,200
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